Obéhy sobota Polensko
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o ndstup
3 6+ | 180 101|stfedni|V 020| 615| 6:17|Polna, aut.st. 6:42|Jihlava, aut.n&dr. 0:20| 0:25| 0:02 0:47| 0:33| 0:00{ 0:33 17,4 51| 887| 17,4| 887 0 0 0 0 0 0 39:57:00| 28:03:00
3 6+ | 180 154(stfedni|V 000| 715| 7:18|Jihlava,aut.nadr. 7:53| Podésin 0:00| 0:35[ 0:03 0:38| 0:00| 0:00{ 0:00 25 51| 1275 25| 1275 0 0 0 0 0 0 32:18:00
3 6+ | 185[ 102(stfedni|V 0.00| 7:53| 7:55|Podésin 8:18|2dér n.Saz., aut.nadr. 0:00| 0:23| 0:02 0:25| 1:20{ 0:00{ 1:20| 26,8 51| 1367| 26,8| 1367 0 0 0 0 0 0 21:15:00
3 6+ | 180[ 103|velky |V 0:00| 9:38| 9:42|Zdér n.Saz., aut.nddr. 10:42|Jihlava,,aut.nadr. 0:00| 1:00| 0:04| 0:30| 1:34| 0:03| 0:00| 0:03| 41,4 51| 2111| 41,4) 2111 0 0 0 0 0 0 79:54:00
3 6+ | 180[ 156(stfedni[V | o00| 11:35| 11:18|Jihlava, aut.nadr. 11:53| Podésin 0:00| 0:35| 0:03 0:38] 0:00| 0:00( 0:00| 25| 51[1275| 25| 1275 0 0 0 0 0 0| 32:18:00
3 6+ | 185[ 104(stfedni[V_| o00| 11:53| 11:55|Pod&sin 12:18|2dar n.Saz.,,aut.nadr. 0:00| 0:23| 0:02 0:25| 1:20| 0:00| 1:20| 26,8| 51| 1367 26,8| 1367 0 0 0 0 0 0| 21:15:00
3 6+ | 180[ 105|velky |V | oo0o| 1338 13:42|2dér n.S4z.,aut.nddr. 14:42|Jihlava, aut.nadr. 0:00| 1:00| 0:04 1:04| 0:33] 0:00| 0:33| 41,4 51| 2111| 41,4] 2111 0 0 0 0 0 0| 54:24:00
3 6+ | 180[ 158|stfedni[V_ | o00| 15:15| 15:18|Jihlava,,aut.nadr. 15:53| Podésin 0:00| 0:35| 0:03 0:38] 0:00| 0:00( 0:00| 25| 51[1275| 25| 1275 0 0 0 0 0 0| 32:18:00
3 6+ | 185[ 106(stfedni[V_ | o00| 15:53| 15:55|Pod&sin 16:18|2dar n.Saz.,,aut.nadr. 0:00| 0:23| 0:02| 0:30| 0:55| 2:50| 0:00| 2:50| 26,8 51| 1367| 26,8 1367 0 0 0 0 0 0| 46:45:00
3 6+ | 185| 107|stfedni|V | ooo| 19:38| 19:42|2dér n.S4z.,aut.nddr. 20:03|Podésin 0:00| 0:21| 0:04 0:25| 0:00| 0:00 0:00| 26,8| 51| 1367 26,8| 1367 0 0 0 0 0 0| 21:15:00
3 6+ | 180[ 157(stfedni[V_| o20| 20.03| 20:05|Pod&sin 20:16|Polna, aut.st. 0:20| 0:11| 0:02 0:33| 0:00| 0:00| 0:00| 7,6] 51| 388 7,6/ 388 0 0 0 0 0 0| 28:03:00
[ odstup| R2 0:00| 5:51| 0:31| 1:00| 8:02| 6:39| 0:00| 6:39| 290 HiHHE| 290 HiHH 0 0 0 0 0 0| 409:42:00|339:09:00
3cel 0 V elkem 0:00 5:51 0:31 1:00 8:02 6:39 0:00 6:39 290 O #2900 #iH# 0 0 0 0 0 0 409:42:00 339:09:00
o ndstup
4 6+ | 210[ 102|maly [ V| o20| 73| 7:16|Polna,autst. 7:52|Havlickiv Brod, dopravni terminal | 0:20| 0:36| 0:03 0:59| 0:16| 0:00| 0:16| 20| 51[1020| 20| 1020 0 0 0 0 0 0| 50:09:00| 13:36:00,
4 6+ | 210[ 101|maly [ V| ooo| sos| 8:10|Havlickiv Brod, dopravni terminal | 8:46|Polna, aut.st. 0:00| 0:36] 0:02 0:38| 2:28| 0:00| 2:28| 20| 51[1020| 20| 1020 0 0 0 0 0 0| 32:18:00/125:48:00,
4 6+ | 210[ 104[maly [ V| ooo| 11:14] 11:16|Polna,aut.st. 11:52| Haviickuv Brod, dopravni terminal | 0:00| 0:36| 0:02 0:38| 0:16| 0:00| 0:16| 20| 51[1020| 20| 1020 0 0 0 0 0 0| 32:18:00| 13:36:00,
4 6+ | 210[ 103|maly [ V | o00| 12:08| 12:10|Havlickiv Brod, dopravni terminal | 12:46|Polna, aut.st. 0:00| 0:36| 0:02| 0:30| 1:08| 1:58| 0:00| 1:58| 20| 51| 1020 20| 1020 0 0 0 0 0 0| 57:48:00/100:18:00,
4 6+ | 210[ 106|maly [ V | oo0| 15:14| 15:16|Polna, aut.st. 15:52| Haviickuv Brod, dopravni terminal | 0:00| 0:36| 0:02 0:38] 0:16| 0:00| 0:16| 20| 51[1020| 20| 1020 0 0 0 0 0 0| 32:18:00| 13:36:00,
4 6+ | 210[ 105[maly [ V | o00| 1608| 16:10|Havlickiv Brod, dopravni terminal | 16:46|Polna, aut.st. 0:00| 0:36] 0:02 0:38] 2:27| 0:00| 2:27| 20| 51[1020| 20| 1020 0 0 0 0 0 0| 32:18:00/124:57:00,
4 6+ | 210[ 108[maly [ V | oo00| 19:13| 19:16|Polna, aut.st. 19:52 | Haviickuv Brod, dopravni terminal | 0:00| 0:36| 0:03 0:39| 0:15| 0:00| 0:15| 20| 51[1020| 20| 1020 0 0 0 0 0 0| 33:09:00| 12:45:00
4 6+ | 210[ 107|maly [ V | o20| 20:07| 20:10|Havlickiv Brod, dopravni terminal | 20:46|Polna, aut.st. 0:20| 0:36] 0:03 0:59| 0:00| 0:00{ 0:00| 20| 51[1020| 20| 1020 0 0 0 0 0 0| 50:09:00| 0:00:00
o odstup | R2 0:00| 4:48| 0:19| 0:30| 6:17| 7:56| 0:00| 7:56| 160 8160 160 8160 0 0 0 0 0 0| 320:27:00)404:36:00
4cel 0 V elkem 0:00 4:48 0:19 0:30 6:17 7:56 0:00 7:56 160 0 8160 160 8160 0 0 0 0 0 0 320:27:00 404:36:00
o ndstup
13 6+ | 182| 104|stfedni| V | o020| 12:35| 12:37|2dér n.Saz.,aut.nadr. 13:54| Jihlava, aut.nadr. 0:20| 1:17[ 0:02 1:39| 0:09] 0:00| 0:09| 45,6] 51| 2326| 45,6] 2326 0 0 0 0 0 0| 84:09:00
13 6+ | 182[ 103|stfedni| V | o000| 14:03| 14:05|Jihlava, aut.nadr. 15:22| Zdar n.S4z.,,aut.nadr. 0:00| 1:17[ 0:02 1:19| 0:16] 0:00| 0:16| 45,6] 51| 2326| 45,6] 2326 0 0 0 0 0 0| 67:09:00
13 6+ | 185[ 105|stfedni| V | ooo| 15:38| 15:42|2dér n.Saz.,aut.nadr. 16:03| Podésin 0:00| 0:21| 0:04 0:25| 0:00| 0:00 0:00| 26,8| 51| 1367 26,8| 1367 0 0 0 0 0 0| 21:15:00
13 6+ | 180[ 155(stfedni| V | o00| 16:03| 16:05|Pod&sin 16:42|Jihlava,,aut.nadr. 0:00| 0:37| 0:02| 0:30| 1:09| 0:03| 0:00| 0:03| 25| 51| 1275 25| 1275 0 0 0 0 0 0| 58:39:00
13 6+ | 180[ 108|stfedni| V | o020| 1715| 17:18|Jihlava, aut.nadr. 18:18|Zdar n.Séz.,,aut.nadr. 0:20| 1:00| 0:03 1:23| 0:00 0:00| 0:00| 41,4| 51| 2111| 41,4] 2111 0 0 0 0 0 0| 70:33:00
o odstup | R2 0:00| 4:32| 0:13]| 0:30| 5:55| 0:28| 0:00| 0:28| 184 9404 184| 9404 0 0 0 0 0 0| 301:45:00| 23:48:00
13c 0 V elkem 0:00 4:32 0:13 0:30 5:55 0:28 0:00 0:28 184 0 9404 184 9404 0 [} [} 0 [} 0 301:45:00 23:48:00
o ndstup
14 6+ | 182[ 102|stfedni| V | o020| 435| 4:37|2dér n.Saz.,aut.nadr. 5:54|Jihlava, aut.nadr. 0:20| 1:17[ 0:02 1:39| 0:09] 0:00| 0:09| 45,6] 51| 2326| 45,6] 2326 0 0 0 0 0 0| 84:09:00| 7:39:00
14 6+ | 182[ 101|stfedni| V | o00o| 03| 6:05|Jihlava,aut.nadr. 7:22|2dér n.Séz.,,aut.nadr. 0:00| 1:17[ 0:02 1:19] 0:16] 0:00| 0:16| 45,6] 51| 2326| 45,6| 2326 0 0 0 0 0 0| 67:09:00| 13:36:00,




14 6+ | 185] 101|stfedni| V | oo0o| 738| 7:42|Zdar n.Saz, aut.nadr. 8:03| Podésin 0:00| 0:21| 0:04 0:25| 0:00| 0:00{ 0:00| 26,8 51| 1367| 26,8| 1367 0 0 0 0 0 0 21:15:00| 0:00:00
14 6+ | 180[ 151(stfedni| V | o0oo| s03| 8:05|Podésin 8:42|Jihlava, aut.nadr. 0:00| 0:37| 0:02 0:39] 0:33]| 0:00{ 0:33 25 51| 1275 25| 1275 0 0 0 0 0 0 33:09:00| 28:03:00
14 6+ | 180| 104(stfedni| V | o00| 915| 9:18|Jihlava,aut.nadr. 10:18|2dér n.Séz.,,aut.nadr. 0:00| 1:00| 0:03| 0:30{ 1:33| 0:50| 0:00| 0:50| 41,4 51| 2111| 41,4) 2111 0 0 0 0 0 0 79:03:00| 42:30:00
14 6+ | 185] 103(stfedni| V | oo00| 11:38| 11:42|Zdér n.Saz, aut.nadr. 12:03|Podésin 0:00| 0:21| 0:04 0:25| 0:00{ 0:00{ 0:00| 26,8 51| 1367| 26,8| 1367 0 0 0 0 0 0 21:15:00| 0:00:00
14 6+ | 180 153(stfedni| V | oo00| 12:03| 12:05|Podésin 12:42|Jihlava,,aut.nadr. 0:00| 0:37| 0:02 0:39] 0:33]| 0:00{ 0:33 25 51| 1275 25| 1275 0 0 0 0 0 0 33:09:00| 28:03:00
14 6+ 180| 106|stfedni| V | o000| 13:15| 13:18|Jihlava, aut.nadr. 14:18|2d4r n.Séz.,,aut.nadr. 0:00| 1:00( 0:03 1:03| 0:00| 0:00| 0:00| 41,4 51| 2111 41,4| 2111 0 0 0 0 0 0| 53:33:00| 0:00:00
14 6+ |r striddni 0:40| 11:29| 14:18|Zdér n.Saz.,,aut.nadr. 17:38|Zdar n.Séz.,,aut.nadr. 0:40 | 0:00| 0:00 0:40{ 0:00{ 3:20| 3:20 0] 51 0 0 0 0 0 0 0 0:00:00!
14 6+ 180| 107|stredni| V | o000 17:38| 17:42|Zd4r n.Sé4z., aut.nadr. 18:42|Jihlava, aut.nadr. 0:00{ 1:00( 0:04| 0:30| 1:34| 0:03| 0:00| 0:03| 41,4 51| 2111 41,4| 2111 0 0 0 0 0 0 2:33:00!
14 6+ | 180[ 160(stfedni| V | oo00| 19:15| 19:18|Jihlava, aut.nadr. 19:53|Podésin 0:00| 0:35 0:03 0:38| 0:00| 0:00{ 0:00 25 51| 1275 25| 1275 0 0 0 0 0 0 0:00:00
14 6+ 185| 108|stfedni| V | o000| 19:53| 19:55|Podésin 20:18|Zd4r n.Séz., aut.nadr. 0:00| 0:23| 0:02 0:25| 0:17| 0:00| 0:17| 26,8 51| 1367| 26,8| 1367 0 0 0 0 0 0 H 14:27:00]
14 6+ | 182] 106|stfedni| V | o00| 20:35| 20:37|Zdar n.Saz.,,aut.nadr. 21:54|Jihlava,,aut.nadr. 0:00| 1:17| 0:02 1:19| 0:09| 0:00| 0:09| 45,6 51| 2326| 45,6| 2326 0 0 0 0 0 0 67:09:00| 7:39:00
14 6+ | 182 105(stfedni| V | o020| 22:03| 22:05|Jihlava, aut.nadr. 23:22|2dér n.Séz.,,aut.nadr. 0:20] 1:17| 0:02 1:39| 0:00| 0:00| 0:00| 45,6 51| 2326| 45,6| 2326 0 0 0 0 0 0 84:09:00| 0:00:00

o odstup| R2 0:0011:02| 0:35| 1:00{13:57| 2:50| 3:20| 6:10| 462 H#itHi | 462 | HitH# 0 0 0 0 0 0| 711:27:00|144:30:00
l4c 0 V elkem 0:00 11:02 0:35 1:00 13:57 2:50 3:20 6:10 462 O HH#H# 462 HitH# 0 0 0 0 [} 0 711:27:00 144:30:00
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